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QUESTION 1

A company wants to create a data set that includes mock-up customer add Which method is available to populate these
fields?

A. Propensity
B. Bayesian

C. Monte Carlo
D. Import

Correct Answer: C

QUESTION 2

What are two results of an Adaptive Model? (Choose Two)
A. Priority

B. Propensity

C. Segment

D. Performance

Correct Answer: BD

QUESTION 3

Which Adaptive Model output is automatically mapped to a strategy property?
A. performance

B. evidence

C. propensity

D. score

Correct Answer: B

QUESTION 4
What happens when you increase the performance threshold setting of an Adaptive Model rule?

A. The number of active predictors increases.

PEGAPCDS86V1 VCE Dumps | PEGAPCDS86V1 Study Guide | PEGAPCDS86V1 Braindumps 2/3


https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html
https://www.passapply.com/pegapcds86v1.html

VCE & PDF https://lwww.passapply.com/pegapcds86vi1.html
2024 Latest passapply PEGAPCDS86V1 PDF and VCE dumps Download

PassApply.com

B. The correlation threshold decreases.

C. The performance of the model is increased.

D. The number of active predictors may decrease.
Correct Answer: A

Reference: https://pegasystems2.https.internapcdn.net/pegasystems2/marketing/C-762- StudentGuide.pdf

QUESTION 5

The Filter component is used to filter ,

A. adaptive models
B. attributes

C. action

D. customers

Correct Answer: A
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